

OLIVE LEAF YIELDS & FLAVOURFUL ORIGIN

Olyfo is a company dedicated to the art of producing and distributing the finest bottled and bulk extra virgin olive oil. We take pride in our heritage, combining centuries of tradition with modern techniques to craft olive oil that embodies the richness of Tunisia's land.

Our process begins in the sun-soaked groves of Tunisia, where we handpick only the best olives. Every olive is carefully selected, and through state-of-the-art, eco-friendly technology, we extract its pure, golden juice—ensuring that what reaches your table is nothing short of extraordinary. This is not just olive oil; it's the essence of flavor, health, and craftsmanship, designed to elevate your culinary experiences with every drop.

At Olyfo, we are more than just producers. We are the olive leaf yields and flavor origins that shape every bottle, every batch. Proudly, we bring you Al Atika, IFRIQIA, and 2500 Years of Tradition—brands that represent the perfect marriage of history and innovation, offering a taste of Tunisia's unparalleled terroir.





2500 years of tradition. The Gold.

Our signature product, 2500 The Gold, is the epitome of premium quality and luxury packaging. This extra virgin olive oil is crafted from the finest handpicked olives and cold-pressed to perfection.

2500 The Gold represents the heritage of ancient olive trees, bringing you an unparalleled taste experience with every drop. Packaged in elegant, premium bottles, it is ideal for gourmet dining and those who appreciate the finest things in life.









2500 years of tradition. Origins.

Our signature product, 2500 Origins, is the epitome of premium quality and luxury packaging. This extra virgin olive oil is crafted from the finest handpicked olives and cold-pressed to perfection. 2500 Origins represents the heritage of ancient olive trees, bringing you an unparalleled taste experience with every drop. Packaged in elegant, premium bottles, it is ideal for gourmet dining and those who appreciate the finest things in life.





IFRIQIA is where North African heritage and contemporary design come together. Inspired by the vibrant cultures of the region, this extra virgin olive oil is more than just a culinary staple—it's a bold expression of flavor and identity.

For the young and the young-at-heart, IFRIQIA brings a fresh, dynamic take on tradition. From the olive groves to the bottle, every step is infused with creativity and care, making this oil perfect for those who love to experiment in the kitchen while staying connected to their roots.

With its distinctive design and rich flavor, IFRIQIA speaks to a new generation of olive oil enthusiasts—those who appreciate quality, culture, and a taste that's unmistakably Tunisian. Whether you're crafting a street-style feast or a refined dinner, IFRIQIA brings a vibrant energy to every dish.





Step into the world of Al Atika, where every bottle tells the story of Tunisia's deep-rooted olive oil traditions. Crafted from handpicked olives and pressed with centuries-old techniques, Al Atika delivers a bold, authentic flavor that's true to its origins.

This extra virgin olive oil is perfect for those who value authenticity in every meal. Whether drizzled over fresh salads or used as a base for culinary masterpieces, Al Atika offers a versatile flavor profile that pairs well with the simplest dishes or the most intricate recipes.

Rich, robust, and filtered—Al Atika is the olive oil that stands as a tribute to Tunisian heritage, balancing time-honored methods with today's need for pure, healthy ingredients. Taste the boldness, savor the tradition.





Corporate Gifts & Luxury gift packs.

Olyfo offers exclusive customizable packaging for corporate gifts and luxury gift sets. Choose from elegant options like bags, boxes, and olive wood accessories to create the perfect gifting experience. Tailor your package to impress, whether for clients or special occasions.

Private Label by OLYFO.

Ready to launch your own olive oil brand but don't know where to start? Olyfo is here to help. With our storage and bottling facilities, we guide you through every step —from concept to creation— ensuring your private label needs are fully met.

Diffrent sizes & Shapes

Glass Bottles

Marasca & Dorica 2501500175011000 ML

Metallic Tins 250 | 1500 | 1000 | 2 | 13 | 14 | 15 | 120 | 1

Drums, IBC & Flexi tanks 200 KG | 1000 L | 22000 KG

olyfo.com

Pallets Configuration.

Glass Bottles

		UNITS/BOX	BOX/PALLET	BOTTLES/PALLE
LETS.	250ML	12	217	2604
ORICA UROPALL	500ML	12	132	1584
2 🖺	750ML	12	102	1224

ALLETS	250ML	12	217	2604
	500ML	12	126	1512
EURO PALLE	750ML	12	102	1224
	1L	12	84	1008

TLES	250ML	12	256	3072
SBOT LETS	500ML	12	154	1848
GLASS BO	750ML	12	102	1224
5 5		12	90	1080

Metallic Tins

	UNITS/BOX	BOX/PALLET	UNITS/PALLET
3L	4	128	512
5L	4	80	320

Drums, IBC & Flexi Tanks

	20 FT CONTAINER	40 FT CONTAINER
200KG	80	160
1000L	10	20
22000KG	1	

Notes	

Thank you.

Let's Talk – Your Olive Oil Journey Starts Here

Get in touch with Olyfo for all your olive oil needs, from wholesale and private label services to bulk orders and collaborations.

sales@olyfo.com - +216 25 217 199 - www.olyfo.com



sayhey to your new source for deliciousness!



Story — Mission — Values.

Celebrating the Heritage.

Inspired by the bold flavors and aromatic spices of our homeland, we set out on a mission to share the taste of Tunisia with the world. Our brand is atestament to the vibrant culture, traditions, and flavors that make Tunisian cuisine truly unique.

Preserving Tradition. Supporting Farmers.

We are dedicated to sourcing the finest ingredients directly from Tunisia, creating products that capture the authenticity and natural goodness of our homeland. We strive to preserve traditional recipes, support local farmers, and share the joy of Tunisian flavors.

Uncompromised Quality. Authentic Flavors.

Quality, authenticity, and sustainability are at the core of everything we do. We believe in creating products without preservatives or chemical additives, ensuring that each jar of Poppa Peppa reflects the true taste of Tunisia's culinary treasures.





Our Pride

Unleash the Authentic Heat.

Discover the fiery essence of Tunisia with Poppa Peppa's Traditional Smoked Harissa. Celebrated by UNESCO, this vibrant, smoky condiment is crafted from the finest sun-dried chili peppers. Add a burst of exotic spice to your dishes and savor Tunisia's rich culinary heritage.

But that's not all—we offer three distinct varieties of Harissa to suit every palate. Enjoy the classic, smoky flavor of our Traditional Smoked Harissa, the bold heat of our Fresh Berber Harissa, and the smooth, mild taste of our Harissa Cream. Each variety is

meticulously crafted to bring you the authentic taste of Tunisia, enhancing your culinary creations with our unique and flavorful spices.

Embrace the tradition, taste the difference, and elevate your dishes with Poppa Peppa's exceptional Harissa range.

Hall of Fame

Taste the World.

Explore the exquisite flavors of Poppa Peppa's product range, carefully crafted to bring the authentic taste of Tunisia and the Mediterranean to your table.



Tunisian Classics

Meshwia - Spicy Grilled Green Pepper Spead Meshwia - Mild Grilled Green Pepper Spead Shakshuka - Mediterranean Sauce Berber Harissa - Spicy Chili and Herbs spread Traditional Smoked Harissa Whipped Harissa

Mediterranean Delights

Sun-dried Tomatoes — Garlic and basil Sun-dried Tomatoes — Garlic and basil craze Marinated Artichoke Hearts Marinated petite Artichoke Hearts

Olives Selection

Pitted Green Olives
Green Olives
Sliced Green Olives
Oriental Style Green Olives
Pitted Green Olives with Fennel
Pitted Green Olives "à la Provençale"
Zesty Lemon Stuffed Olives with Lemons
Green Olives Stuffed with Cayenne Peppers
Green Olives stuffed with Garlic
Green Olives Stuffed with Almonds

Corporate & Seasonal Gifting.

Whether you're looking to delight clients, reward employees, or spread holiday cheer, consider Poppa Peppa for your corporate and seasonal gifting needs. Our exquisite range of Mediterranean delicacies makes for memorable and appreciated gifts. Let us help you make a lasting impression.

With J from Tunisia





Horeca Specialty

Elevate your culinary creations with Poppa Peppa Wide selection

Bring the bold, authentic flavors of Tunisia to your kitchen with Poppa Peppa's Horeca Specialty line—crafted for hotels, restaurants, and catering pros who demand quality. From our smoky, vibrant Harissa (in both spicy and mild varieties) to our handpicked Tunisian olives and rich olive oils, each product is packed with Mediterranean soul and simplicity.

Sourced directly from Tunisia with no preservatives or additives, Poppa Peppa is all about pure, honest flavor.

Ready to elevate your menu?Get in touch to discover how Poppa Peppa can bring a touch of Tunisian magic to your guests.



Large Sized servings

Artichokes with Stem Artichoke Quarters Marinated Artichoke Hearts Fresh Harissa Sundried tomatoes



Olive Selection

Whole Green Olives
Pitted Green Olives
Sliced Green Olives
Pitted Green Olives "à la Provençale"
Oriental Style Green Olives

Contact us

Ready to Elevate Your Culinary Journey?

Discover the world of Poppa Peppa and its exquisite range of Mediterranean treasures. For more information, personalized recommendations, or to place your orders, don't hesitate to reach out to us at this email: sales@poppapeppa.com or give us a call at +216 25 217 199

